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Problem 5.51) a) Since the units of M(r,t) are weber/m? and the delta-function has units of 1/m,
the coefficient M,, must have the units of weber/m.

b) In the absence of pge(r,?) and P(r,f), the bound electric charge-density of the magnetized

(e)

sheet is zero, that is, p... , =0, while the bound current-density is given by

J g = 1y VXM(r,0) = 11, (OM,/0y)X = ;' M ,5'(y) cos(@,1) x.

c) Since the electric charge-density of the sheet is zero everywhere, we have w(r,¢)=0. As for
the vector potential, we use the symmetry of the problem and compute A(r,tz) only at
(x=0,y,z=0), as follows:
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Sifting property of &'(*)

=~ M, sign(y) cos [@,(t—| yl/c)]%.
E(r,0)=-Vy —0A/5t = —% oM __sign(y)sin[w,(i—|y|/c)]x.

B(r.0)=V x A=—(04,10y)3="1(a,/c)M,,sin[o,(t-| y|/c)].




